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FUAT a9l &1 A H TG |

39 Jv1-U9 G 21 @UEI 4 21 Y9 & : TWUE & IR @IS & |

QU & TEHE TFR & T3 & el GUE G ¥ [ Re TR & T 8 |
U 7T (5 + 16) = 21 I¥I 4 4, IHIGAR FI 2 ¥ F &l (3Aferwan) auT 4
(5+10) =15 J¥I FIWaT 8 |

Tordlt fasr @ue & qaft 991 ol Tel 59 8 T BT JIT4 T ST <1150 |
QUE & : TRE THR & T (24 37%F) :

(@) ATESH 5IHE |

(b) s THRIHF HHT T8l 2 |

(c) T e faden & s7ar I |

(d) Teda J9/4TT & GTH T 3Tahl T Sooid 1HaT T 8 |

TUE G : [T JHR & 37 (26 3F) :

(@) ATEH 16 T E |

(b) SHHIGaR & 10 TS FH & |

(c) ﬁ?ﬂ?ﬁ%ﬁ%w?ﬁﬁml

(d) Tcda I9/47T & GTH T 1d 37! o1 Sooid [HIT T & |

LCLecn
(TEIS THR &F TI) (24 3ih)
TSR 9 W) U 7w 6 g9t 9 9 foredf 4 o 3w S | 4x1=4

(1) freforRaa & & 19 €991 (communication) % o @&t 78T 2 2
(A)  TeEfier U T qHL ATEH W HaT hT HUTOT AT € |
(B) Teeffer HawT ! AT AT SHAAT € |
(C) ST =I5k skl T A o fIQ FeefTor Haet ol 37kl @ hl hieaeh o &9
H ISk o UM T ¢ |
(D) ‘Communication’ 88, AT 368 commiinicare ¥ 4T 8 fS&ehT 37ef
YT HAT 2 |
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General Instructions :

(i) Please read the instructions carefully.

(it)  This question paper consists of 21 questions in two sections : Section A
and Section B.

(iti) Section A has Objective Type Questions whereas Section B contains
Subjective Type Questions.

(iv) QOut of the given (5 + 16) = 21 questions, a candidate has to answer
(5 + 10) = 15 questions in the allotted (maximum) time of 2 hours.

(v)  All questions of a particular section must be attempted in the correct order.

(vi) Section A : Objective Type Questions (24 marks) :

(a)
(®)
(c)
(d)

This section has 5 questions.

There is no negative marking.

Do as per the instructions given.

Marks allotted are mentioned against each question/part.

(vii) Section B : Subjective Type Questions (26 marks) :

(a)  This section has 16 questions.

(b) A candidate has to do 10 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question / part.

SECTION A
(Objective Type Questions) (24 Marks)

1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

(1) Which of the following is not true for communication ?

106

(A)

(B)
(®)

(D)

The receiver transmits the message through one medium or
another.

The receiver listens or understands the message.

The receiver conveys his/her understanding of the message to
the sender in the form of feedback to complete the
communication cycle.

The word ‘communication’ comes from the Latin word
communicare, meaning ‘to share’.
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(i1)

(iii)

(iv)

(v)

(vi)

s
T ®Y Y 1 B A Frar w1 7ok gl
(A)  FfeAT I WHHR T HEAT
(B) U ffera oue & oe diemT s <t
(C)  SATCH-SINTE, HTH-JaTeeh S STH-GHR o ST

(D) ot tfer Eemor i o for gudi =ht arst 3garT

Torett e AT e & STTfort 7 et el ot ol ST e 2l
(A) STTeH-YSE (B)  SATCH-UTOT
(C) IATcH-EIH (D) ATCH-I@HITA

o SIS T § SIT 27 SR |FeRR ST i T g Hehd
& I T H AT FAT hl TR L Ehdl |
(A) I=I™ (B) Theft
(C) Ular™m (D) BIOS

TSR 6l T ToReT © Foraw s SAfth Al shl STEdl i g0
T & fIT HRIER =T T R 3 AT FHH o fAT FIOaR Sgdt s9= & U
ST TR

(A) Wff TSR (Wage employment)
(B) ¥aT (Services)

(C) weieiierar (Creativity)

(D) 3afdr (Entrepreneurship)

g fowm & S e difedi i amar @ wmsiar foeg fom el
forenTe, TITeer Sl SEvTeT S TSR el o s Eger shi TR ad 8
ST ShT STAIHATSAT T L AT 2 |

(A) Gdd fa#@ (Sustainable development)
(B) AT fash@ (Economic development)
(C) afRATd faeh™ (Personal development)
(D) aftes form (Global development)
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(i1)

(iii)

(iv)

(v)

(vi)

2y
s

Having the ability to work independently means

(A) not accepting mistakes

(B) stop learning after a certain point

(C) becoming self-aware, self-monitoring and self-correcting

(D) blaming others for the slightest mistake

is our ability to do the things that need to be done
without someone or something influencing us.
(A) Self-management (B) Self-motivation
(C) Self-control (D) Self-care

are computer programs that can damage the data and
software programs or steal the information stored on a computer.
(A) Viruses (B) Theft
(C) Antivirus (D) BIOS

is the type of self-employment where one is running a
business to satisfy the needs of people and looking for ways to make
the business better to make profits.

(A) Wage employment
(B) Services

(C) Creativity

(D) Entrepreneurship

is the development that satisfies the needs of the
present without compromising the capacity of future generations,
guaranteeing the balance between economic growth, care for the
environment and social well-being.

(A) Sustainable development
(B) Economic development
(C) Personal development

(D) Global development
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2. fewww 6 v 9 & foRl 5 % ST AT | 5x1=5
1) AT (median) AT (data set) 1 &I ]%l"\q: (middle point) 2l
(A) 3Ferfishd (Unsorted) (B) hHEE (Sorted)
(C) arfiehd (Grouped) (D) <=t fop T (Labelled)

() serfamm (Data Science) 7 ferawor (distribution) T e sars 2
(A) U Ugfd i frel =) (variable) & @wrfad H\?ﬁ (values) IR T forat
IR HA BId 8, I8 TG Lt 2 |
(B) I% 39 9q oh! AT & foh deamal o foear foramn 2 |
(C) TEIHH (mean) ¥ <21 § T+t values [y 31T €, 98 ST 3G © |
(D) =X (variable) 3 foTq 1fersham e iR A fopaft A afeq 81 € |

(iii)  HBHIA ‘El'fﬂ%’ (Confirmation Bias) £l i T aT g |
(A) T 7@ (Recall Bias)
(B) Tociwm Lj;:l?‘,l'c‘w (Selection Bias)
(C) JAtesat ‘15'7'5!'6' (Observer Bias)
D) %ﬁ'ﬂf@w (Linearity Bias)
(iv) < fmmda 31 971 ARIF data sets T T 2T W (data frame)
T e A afF R |
(A) A (Pattern) (B) et faem (Data merging)
(C) foawor (Distribution) (D) @ (Probability)

(v) T 37 AN MUET (confidentiality) Tl &raT wifeh FH<ft T
(private data) T HelHd STTRIHATST YT SATEMNA QT GO it T&LA &Y
ThdT T |

(A) U (Privacy)

(B) 1G9t (Data governance)

(C) fdes fenfaEsr (Ethical guidelines)
(D) u&HTd (Bias)

(vi) SaTSC foh I8 Wt € A1 7Tera
foreht safch & Soehl weafa @ aed fsft ST (private data) ot fafsr= st =
AT gRT I o 7T gefsia foham St =iy |
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2. Answer any 5 out of the given 6 questions. 5x1=5
) The median is the middle point of a/an data set.
(A) Unsorted (B) Sorted
(C)  Grouped (D) Labelled

(i1)  What does a distribution represent in Data Science ?

(A) A method which shows the probable values for a variable and
how often they occur.

(B) It is the measure of how spread out the numbers are.

(C) It is the average of how far away all values in a data set are
from the mean.

(D) The maximum values for a variable and how often they occur.

(iii) Confirmation Bias is also known as
(A) Recall Bias
(B) Selection Bias
(C) Observer Bias
(D) Linearity Bias

(iv) In Data Science, is the process of combining two or
more data sets into a single data frame.
(A) Pattern (B) Data merging
(C) Distribution (D) Probability

(v) does not always mean confidentiality because private

data may need to be audited based on the relevant requirements.
(A) Privacy

(B) Data governance

(C) Ethical guidelines

(D) Bias

(vi) State True or False :

The private data acquired from a person with their consent should be
exposed for use by different businesses or individuals.
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3. TRUTT 6 Y H ¥ fhl 5 o IT AT | 5x1=5
) Y BT aTfeAehT (two- -way tables) 3T I Fd g, ifora (categories)
Eal i 3R Ufth (row) H W@ |

(A) =, 3¢ (bottom, right) (B) U, T (top, left)
(C) Fudt, a7l (top, right) (D) fr=ret, sE (bottom, left)
(i) GiReThr T (T0T) T F F AT (Statistical problem-solving
process)ﬁg@ﬁ. ok MU /8 |
(A) T (B)
(C) dm (D) =
(ili) HfEFeT (A): YEWE Hied (Biased models) Hidud =afth wwel & @
HEWTT A © |
FIT (R) : 3 SIfEHl € s=q o fOT qaiug (Bias) Sl GHIG AT o84
HECAUT € |
(A) SRR (A) IR FRO (R) 9T T8 & A ANYFAT (A) FT T&l
TSRO T (R) § |
(B) 3AfFAA (A) 3R RO (R) IHT W&l &, W AR (A) T @&l
TSR 0T (R) TET & |
(C) AR (A) €& 2, T 0T (R) Tl € |
(D) 3ATHAA (A) T &, T FHROT (R) T € |

(iv) oI WSS WK (standard score) o A & +ft ST S1aT ® HAifR
Ig ]%I?R'UT % HTehIRT gRT fIf=T JhR & =’ (variables) T I (scores)
T T L HRAT S |
(A) St (Joins) (B) WS-%hR (Z-Score)
(C) a9 (Percentiles) (D) farawor (Distribution)

(v)  One-to-one join key T TINT ohieh 3ATheT dTfetshT3Tl (data tables)
Sl STSHT 1 FAT S |
(A) & (Basic) (B) HHed (Secondary)
(C) W (Primary) (D) 3 < (Alternate)

(vi) TS 3T ST STell ST T gHem g Tt ST =t |

(A) SR (Irresponsibly)
(B) TUHIdT (with Confidentiality)
(C) H|1dqTcHsh &Y (Emotionally)
(D) AT9EETEl (Carelessly)
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3. Answer any 5 out of the given 6 questions. 5x1=5

) While interpreting two-way tables, categories are placed in
column and TOW.

(A) Dbottom, right (B) top, left
(C) top, right (D)  bottom, left

(i1)  The statistical problem-solving process involves mainly
component(s).
(A) One (B) Two
(C) Three (D) Four

(iii) Assertion (A) : Biased models tend to discriminate against certain
groups of people.

Reason (R): It is very important to eliminate the bias to avoid
these risks.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is
not the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

(iv) is also known as standard score as it allows comparison
of scores on different types of variables by standardizing the
distribution.

(A) Joins (B) Z-Score
(C) Percentiles (D) Distribution
(v)  The one-to-one join works by merging the data tables using the
key.
(A) Basic (B) Secondary
(C) Primary (D) Alternate

(vi)  The private information that is shared should always be handled

(A) Irresponsibly (B)  with Confidentiality
(C) Emotionally (D) Carelessly
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4., TRumu 6 yHT A 9 fordl 5 o ST AN | 5x1=5
(i) =1 fa9™ (Data Science) H @&@T (subset) FTE 2
(ii)  @ileTshr (Statistics) | fodTor (distribution) 1 Jidffad q
gieTfyd frar sar 2 A for omw & )
(A) G91IdT (Probabilities) (B) | (Median)
(C) #=IHH (Mean) (D) fIveiwoT (Analysis)
(iii) I8 AT & foh 9 & T (sample) FT AR ST ST AT B

sample mean (T 3ﬁ'§l?f) G foraLor & gHiT 8 ST g |
(A) EWTeIdT (Probability)

(B) eI T ug (Central limit Theorem)

(C) gfdeavga™ (Identifying Pattern)

(D) o (Distribution)

(iv)  9f¢ Z-Score &I A (value) HEIHT (mean) g S & T SS-FhiT (Z-Score)
RN ﬁm%ﬁaﬁmq@(value)mﬁﬁﬁ?ﬁﬁ
BIATE |
(A) YdrcHe (Positive), UMcHe (Negative)
(B) =kUTcHeh (Negative), 9dTcHeh (Positive)
(C) &A= (Positive), I (Zero)

(D) =viicHeh (Negative), [ (Zero)

(v) S« f=an 9 S=Iqu & %A ° @1 S| ar T values % middle
50% o 19 o &9 | qRTia foram ST Hehar 2 |

(A) IdH* (Percentile)

(B) =qde (Quartile)

(C) 3HaT-=qee €T (Interquartile range)
(D) SS-%h (Z-Score)

(vi) 0 (Data) i 3Fffod €EAT (unfair means) 1 HEATT L &A1 =M(T |
(TEH/ATeA)
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Answer any 5 out of the given 6 questions. 5x1=5
1) In Data Science, what is a subset ?
(i1)  Distribution in statistics is defined by underlying and
not by the graph.
(A) Probabilities (B) Median
(C) Mean (D) Analysis
(iii) The states that the distribution of sample mean nears

normal distribution as the sample size gets bigger.
(A) Probability

(B) Central Limit Theorem

(C) Identifying Patterns

(D) Distribution

(iv) The Z-Score is always

the mean and it is if its value is below the mean.

(A) Positive, Negative
(B) Negative, Positive
(C) Positive, Zero

(D) Negative, Zero

if the value of Z-Score lies above

(v) A/An can be defined as the measure of the middle 50% of

the values when ordered from lowest to highest.
(A) Percentile

(B) Quartile

(C) Interquartile range

(D) Z-Score

(vi) Data should institutionalize unfair means. (True/False)

Page 11 of 15

P.T.O.




EE

s
5. Teuww 6 ywi @ foRdl 5 % ST AT | 5x1=5
(1) I (mean) FHsid SI?{% (central tendency) T T U9 & | (H&I/ATeT)
(i)  HETETR sl TEUE, SATth T I AT S hi TelTS 27 (data) &
I |
(A) 9¥h (Discrete) (B) TUTcH (Qualitative)
(C) T (Fixed) (D) AT (Continuous)
(iii) TRt forfaTse Svrfora = sterTfera sre ot sra™ o fow &g T AT
T THA B |

(A) forwor (Distribution)
(B) @9rsIdT (Probability)
(C) 9&UId (Partiality)
(D) 9gf®® FA (Random Experiment)
(iv) S8-%hR (Z-Score) WWWH@ zZ=(x- p/o 3
&l x = raw score, pn= mean ¥ | o ¥ YSHId AT 2
(A) A fo=e (Standard Deviation)
(B) Hregeh (Median)
(C) T (Distribution)
(D) 3qHs (Percentile)

v) F T TR AT A FoA UG FaAAT (ordered
observations) % YT o ®9 H G fomam ST Hehdr 2 |

(A) T fo=re (Standard Deviation)
(B) TdAs (Percentile)

(C) 3Td (Mean)

(D) #regsh (Median)

(vi) U o1 o g9 STl T ST (user data), ToRIVeRt Mo €21 1 M 90

FL A &, A1 IS ATITF & Toh 89 39 32T Fl/hHV/ahT 3/ |
(A)  forsh (Sell) (B)  g&WANT (Misuse)
(C) @IS (Discard) (D) 3WfNd (Forward)
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Answer any 5 out of given 6 questions.

(1)
(i1)

(iii)

(iv)

(v)

(vi)

2y
s
Mean is a measure of central tendency. (True/False)

Depth of an ocean, weight of a person or length of a road are
examples of data.

(A) Discrete (B) Qualitative
(C) Fixed (D) Continuous
We can use to predict how likely or unlikely particular

events may be.

(A) Distribution

(B) Probability

(C) Partiality

(D) Random Experiment

The mathematical formula for calculating the Z-Score is

Z = (x — p)/o, where x = raw score, 4 = mean.
What does ¢ stand for ?

(A) Standard Deviation
(B) Median

(C) Distribution

(D) Percentile

A can be defined as the percentage of the total ordered
observations at or below it.

(A) Standard Deviation
(B) Percentile

(C) Mean

(D) Median

Once we are done with the user data, especially confidential data, it
is important that we this data.

(A) Sell (B) Misuse

(C) Discard (D) Forward
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(Fore=ruer TR o w9) (26 3ieR)

TSR FI9IeT W 19T 71T 5 91 4 @ Tl 3 % SR SISIT | I T3 T ST 20 — 30 Visal 4
g | 3x2=6
6.  IFat-Afcher TUTUT RIT R ? TH TS A o T Tk IqTewr i | 2
7. Tordl =R TS e debiehl shl Feiieig IR | 2
8.  UJARRH HTHaR T T JISH & 2 2
9. %S HRIET I[E B h [T SATh i HH] O hl STALIHAT Sl & |7

FIT IS AT T 2 AT THereh B 2 379 I kT SN sId18u | 2
10. Hdd fa™ (Sustainable development) & Gt foheel aF S THEATST W T&T |

fefam | 2
13U 71T 6 I91 7 G gl 4 F S 20 — 30 3731 (Icdah) H T | 4x2=8
11. ¥ fo=ed (Standard Deviation)W%?Qaﬁm@TWI 2
12. @W%Q’UW afirer (Discrete data) sl G&I9 ¥ ¥s HIfST | 2
13. T YR (Recall Bias) 18 ? 98 HI 818 ? 2
14. SIS (Z-Score) FAT HEIIUI 1 & ? IS &I HE& HN0T feffag | 2
15. One-to-many join FITE 2 I ST o AT T Teh 3T fIRay | 2
16 MU SAfehet i wifass gfat (physical copies) T QTFE’%I?T B § T8 Fd g9 TRt

T R o1 Socra AifST fSre aeararsii s Zohel § 1T Teh 3ford aiishT ST STl

& | FTHSI Hl AHAAA T8 A YT F o fg gwdresi 1 ghel § Hed a7

forelt weh ferermeotiay foig =1 ot Seor@ hifs | 2
feU e 5 391 4 @ farrgl 8 F I 50 — 80 37541 (Je4e) | 7T | 3Ix4=12
17. 9 foaem (Standard deviation)ﬁﬁwﬁ%wﬁwﬁ'@%ﬁl 4
18. UM faaw (Uniform distribution) T & 2 a1 fodeh 3T & o we vregar

ATfoTehT SHTST | 4
19. <1 fa9™ (Data Science) % ey # ffafad wwt & I difvre - 1+1+2=4

(a) qﬁﬁ%(BiaS)W%?

(b) IRHTBIATE ?

() YA (Bias) I HHIG HEAT T Heeaqu & ? forear § ==t hifsg |
20. T (decile) T EUMT o =0T hl Geftarg HifST | 4
21. feforeat a1 (digital data) = T5C T Y STTEIHAT ST AT T T FHIT | 4
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SECTION B

(Subjective Type Questions) (26 Marks)
Answer any 3 out of the given 5 questions based on Employability Skills in
20 - 30 words each. 3x2=6
6. What is Interpersonal Communication ? Give an example to explain it. 2
7 List any four stress management techniques. 2
8. What is the purpose of an antivirus software ? 2
9 “A person needs a lot of money to start a business.”

Is this statement a fact or myth ? Justify your answer. 2

10. Briefly discuss any two major problems related to Sustainable Development. 2

Answer any 4 out of the given 6 questions in 20 — 30 words each. 4x2=8
11. What is Standard Deviation ? Give an example 2
12. Briefly explain the term Discrete Data with the help of an example. 2
13. What is Recall Bias ? Why does it occur ? 2
14. Why is Z-score so important ? Give any two key points. 2
15. What is One-to-many Join ? Give an example to support your answer. 2
16. While safely discarding the physical copies of confidential data, mention
any one situation in which cutting the documents into pieces is considered
an appropriate method. Also mention any one point to consider while
cutting the documents into pieces to ensure the successful discarding of the
data. 2
Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12
17. List down the steps to find standard deviation. 4
18. What is Uniform distribution ? Make a probability table for tossing two
coins. 4
19. With reference to Data Science, answer the following questions : 1+1+2=4

(a)  What is Bias ?
(b)  Why does it occur ?
(c) Why is it important to eliminate the Bias ? Discuss in detail.

20. List down the steps to calculate decile.
21. Explain the need and ways to discard digital data.
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